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Exemplo: tunelamento pela função 
delta de Dirac 4
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R e T como funções de E
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NOTEM QUE AS SO LUG IES EXISTEM PARA

QUAL OVER E O CESEECTRO CONTINUO

E XCX NAI É QUADRADO INTEGRA'VEL
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D. PARTICLE IN A TIME-INDEPENDENT SCALAR POTENTIAL
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potential
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Figure 7: Square potential (fig. a) which schematically represents a real potential (fig. b)
for which the force has the shape shown in figure c.

Comment:

The force exerted on the particle is ( ) = d ( )
d . In Figure 7-c, we have

depicted this force, obtained from the potential ( ) of Figure 7-b. It can be
seen that this particle, in all the regions where the potential is constant, is not
subjected to any force. Its velocity is then constant. It is only in the frontier zones
between these plateaus that a force acts on the particle and, depending on the
case, accelerates it or slows it down.

D-2-b. Optical analogy

We are going to consider the stationary states (§ D-1) of a particle in a one-
dimensional “square” potential.

In a region where the potential has a constant value , the eigenvalue equation
(D-9) is written:

~2

2
d2

d 2 + ( ) = ( ) (D-16)

or:
d2

d 2 + 2
~2 ( ) ( ) = 0 (D-17)

Now, in optics, there exists a completely analogous equation. Consider a trans-
parent medium whose index depends neither on r nor on time. In this medium, there
can be electromagnetic waves whose electric field E(r ) is independent of and and
has the form:

E(r ) = e ( ) e � (D-18)
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Considerações gerais sobre as 
soluções estacionárias
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OVANDO X to Elo V X

ESPECTRO CONTINUO E FUNGEES NAO

QUADRADO INTEGRA'VEIS
b Ez Ez VA O PARA X D Eg X a

ESPECTRO DISCRETO A FUNGIES DE
QUADRADO INTEGRAVEL



Ferramentas matemáticas da 
mecânica quântica



O espaço de funções F
Os estados físicos de partículas quânticas são descritos por funções de onda 
complexas de quadrado integrável:
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Outras propriedades motivadas pela física:
TODOESPAGO

Tait E e

FUNGEES Re

a HIT t CONTINUAS

b INFINITAMENTE DI FERENC AVECS

NOSSO ESPAGO DE FUNGEES ROSSI'VEIS FISICAMENTE

F E UM SUB CONJUNTO DE ECR e

C HE t E FINITO



F é um espaço vetorial 
DIMENSIO INFINITA INTRODUZ COMPLICAGEES

SE M F E F E 42 E ET ENTE

4G 7,4 G 72426 TAMBÉM E F

TI LEG

PROVA NAS NOTAS



O produto escalar em F
DADAS DUAS FUNGDES EM F 4G 4G DEFINIMOS

SEO PRODUTO ESCALAR

dot force to In e a

i 0,4 4,9
ii 9,724,17242 7 d t 72 d h LINEAR No

2 ARGUMENT

iii X d ta202,4 Y d t 72 dat ANTI LINEAR
NO II ARGUMENT

in SE 0,47 0 OCT ENG SEODITAS ORTOGONAIS

N 4,4 Sd 141771 REAL NATO NEGATINO



Ni 4,41 0 ED 4157 0

MT NORMA DA FUNGAO Nlt

Nii DESIGUALDADE DE SCHWARZ

164,4271 STATE
AFI IAI IB lool

F 1171181
PROVA NAS NOTAS



Operadores lineares em F
SAO FUNGJES QUE LEVAN VETORES FUNGSES EM F
A VETORES KFUNGEES EM F

4G A 4G

E E LINEAR

A AH G date ALANG az ALG

EXEMPLI
a PARIDADE IT TINA 9,37 TEX y 3
b MULTIPLICATE POR X OO y ou z

XY x4,37 4614,3



C DERIVADA EM X Dx g COO EM y OU EM Z

0 41 15,37 841 19,3



Produto de operadores e 
comutadores

DADOS DOIS OPERA DORES A E E DEFINIMOS

O PRODUTO AB C COMO SENDO

CHA A Bates

A ORDEM DO PROPUTO É MUI IMPORTANTE

Pols DE MANEIRA GERAL

ABABA
PARA QUANTIFICAR ESSE FATO DEFINE SEO

COMUTADOR DE A E B A B AB BA



EXEMPLO X E Dx

xox 8 8
EX Dxfat 8 1 43 4 84

x DAX Xox Date t

x Dx 1

VIMOS OVE ASSOCIAMOS A MOMENTO

LINEAR D IT a Px E G Dx

x Px xD Dxx E x Dx E it



xPx it Y Py it Z Pz it

E FACIL PROVAR

Cx Y x Z3 7,23 0

PxPy PxPz PyPz7 0

Cx Py Ex Pz 0

Y Px Y Pz 0

2,8 7 17,8 0



ALGUMAS PROPRIEDARES DE COMUTADORES

a aA bB ab A B ONDE a bee

b A BI B A

c At B CTD A C A D B C CB D

d AB C A B C A C B

PROVA ABC ABC CAB

ACBIC A CTB A BC CB AC CA B

ABC HAP CAB

e A BC A B ctB AIC
PROVE ESSA



EXERCII ENCONTRE OS SEGUINTES COMUTA

DORES

a Ex Px

b X PY

DEFINO Lx YPz ZPy T RxD

Ly ZPx XPz
Lz XPy YPx

c Exiled
d Lx Ly


